Algebra 2

Summer Packet

Evaluate each using the values given.

) h- ljl;useh=—5,andj=—1
2 4
3) p+n ;usen=;,andp=l

Simplify each expression.

5) 3v+v

9) —5(-8v—6)+2

11 -7(=9r+1)=3(-r=7)

13) —2k——1—(§k+—9—)
2\37 " 7

Name

Date

2) q—(r+q);useq=4,andr=3

1
4) |yz ;usey=§,andz:2

6) 5S+7v+6

10) =9 —(6v+1)

12) —(6n-1)-10(2n—5)

Period



Solve each equation.

14) -17=n-17

16) —18 =k 3

18) —ﬂz—ﬁn
55 11

20) -3(1 + 6x) =87

22) -5(p+1)=-17-2p

24) 6(-2n +5)=2(~1 - 4n)

15) —13p =195

19) 6(1 + 8x) — 6 = 144

21) 4m—1)-5m=28+3m

23) -1-(1=7x)=7(x +1)

29 I 0o 28) 5
2 5 10

2.



26) 22 _ 6(— 3+
7 2

17
7

Solve each proportion.

o8
k 3

x—lO_i

29
) 3 6

r
rF+6

6
31 ==
)7

Find each product.

33) (3x+6)(8x - 6)

35) (3x+7)0-3x+4)

7

28) M=_

2 9

n
n—4

30)

|

10 9

32 =
) n—-6 n+l

34) (87 +8)(3r+1)

36) (=3n—7)8n->5)



Factor each completely.

37) v - 10v

39) 3x - 13x - 10

Solve each equation by factoring.

41) n* - 10n+21=0

43) n* +8n=-12

45) x* +4x+2=-1

Find the slope of each line.
47)

o4

38) x> —9x—10

40) 5k* — 58k + 80

42y ¥ +3r—4=0

44) a* —8=-Ta

46) ~6x% + x — 48 = —6 — 7x?

48)

Ay

\ ]

-4-



Find the slope of the line through each pair of points.
49) (-5,20),(7,9) 50) (7,17).(8,3)

Find the slope of each line.

=Y

2 =_3x —
51) y=—2x13 52) y=-3x-5
5
Sketch the graph of each line.
33) y=x+4
) y=x+ 54) y=—txi2
Ay 2
5 Ay
'| ;
% 5 T 1 r"}
=3 « T 3 ]
! =
Y =4
-
55) 8x—y=-4 56) y=5
& : | 2
{_ ] 4;3 T | ? r‘; % 5 4 3 1

8 |



Write the slope-intercept form of the equation of each line.

57) 58)

Write the slope-intercept form of the equation of each line given the slope and y-intercept.

59) Slope =—4, y-intercept=10 60) Slope =-3, y-intercept=2

Write the slope-intercept form of the equation of the line through the given points.

61) through: (-2, 2) and (-5, 3) 62) through: (1, 4) and (3, 1)

Write the slope-intercept form of the equation of the line described.

1,4 =— 1
63) through: (1, —4), parallel to y =5 64) through: (2, 1), perp. 0=t~ 3

-6-



Write the slope-intercept form of the equation of each line.

65) 12x + 7y = 49 66) 2x—y =0

Solve each system by graphing,.

67) y=2x-2 68) 3x-y=4

1 =
y=<x+1 X+2y=6

2 Ay

A
w ¥

Solve each system by substitution or elimination.

69) x+y=-4 70) x+3y=6
Tx—y=-4 x—y=2

71) 11x+ 8y =40 72) 2x—y=17
x—4y=32 10x + 3y =27



Answers to Summer Packet

1) -6 2) -3 25
5) 4v 6) 11+7v 7) %x
9) 40v + 32 10) -10 — 6v 11) 66r + 14
13) 79 14) {-10} 15) {~15}
6 14
17) 1—32—5} 18) {35—1] 19) {3}
21) {-8} 22) {4} 23) No solution.
25) {%} 26) {7} 27) {2}
29) %} 30) {20} 31) {36}
33) 24x% +30x — 36 34) 247* +32r + 8 35) —9x% — 9x +28
37) v(v - 10) 38) (x—10)(x +1) 39) (3x+2)(x-5)
41) {7, 3} 42) {-4,1} 43) {-6, -2}
45) {-3, -1} 46) {6, -7} 47 1
49) - 1L 50) -4 51) -2
12 5
53) 54) . 55)
3= - \ >
I X % - 2 -I\é X
56) ,y 57) y=—3x—-3‘r 58) y=2
:—t —4 4 ‘;x
59) y=-4x 60) y=-3x+2 61) y=—%x+-g—
63) y=-4 64) y=2x-3 65) y=—l7g-x+7
67) (2,2) 68) (2,2) 69) (-1, -3)
71) (8,-6) 72) (3,-1)

2
4 =
)3

45 7

8) —x+—
) 5T

12) —26n + 51
16) {-15}

20) {-5}

24) {8}
28) 1— %}
32) {64}

36) —24n* - 41n+35
40) (5k - 8)(k—10)
44) {1, -8}

1
48) =

)2
52) -3

A

5 13

62) y=—"x+—
)y 2t

66) y=2x

70) (3, 1)



Algebra 2

Extra Practice (optional)
Evaluate each using the values given.

1) n+m+6;usem=6,and n=—-6

3) (2—4)+y;usey=—2,andz=_§

Simplify each expression.

5) -7Tx+3x
7 —ﬂr—l—sr
6

9) —9-10(2 + x)

11) —=5(-8 + 7x) - 6(x — 7)

13) 2,4 (ﬂn + 1)
5 \10

Name

Date

2) j—(h+4);use h=1,and j =5

1 1
4) (y+x)+z;usex=—15,y=§, andz=—

6) 1-6n+1+3n

8) %b +2b

10) b +2(6 + 85)

12) =7(1 - 5a) — 10(5a + 8)

Period

1
4



Solve each equation.

14) —78 = —6k 15) 12+ p=18
16) 19m=-171 7 25_5
14 7
18)x+l=—£ 19) -103=5r—(-8r 1)
5 20
20) -123 =-3(1 + 5x) 21) -33 - 5v=-4(2v +6)
22) 4—(m+4)=-6+2m 23) 5(k=3)+7(k—1) =7k - 6k

24) —5x + 3(-x + 8) = -3(8x + 8) 25) _87__6(1n+ 1)
2



29 202 4, 7)
3 7\ 3 3

Solve each proportion.

o7y 2.0
6 7

29) _8_=v+2
10 8

n+7
10

n
31) ==
)3

Find each product.

33) (x+8)(5x—1)

35) (-2a+2)(6a +5)

n+6
6

7
28) —=
)3

v+2
2

=

30)

32) i= a+4
10 a-10

34) (6x + 7)(4x - 6)

36) (7n+4)(4n +3)



Factor each completely.

37) x* +3x-4 38) x* - 8x+15

39) 7x% +41x + 30 40) 3v* + Tv

Solve each equation by factoring.

41) m* - Tm+10=0 42) x> -64=0
43) x> -2 =x 44) k¥ — k=12
45) x*> — 16 — 4x = —4x 46) —4x* — 6x— 8 =8 — 5x°

Find the slope of each line.

47)

48)




Find the slope of the line through each pair of points.

49) (-1,-18), (~16, 8)

Find the slope of each line.

51) y=—§x—5

Sketch the graph of each line.

53) y=6x-3
Ay
% = T o 1 | ] N
¥
55) x+2y=6
. Ihy.
-+ 5 5 1 N =

50) (5, 14), (13, 10)

52) y=—x+2
4) y=—x-2
_ Ay
44 S 3 1 ;;
Y
56) 3x-2y=10
'le

-5-



Write the slope-intercept form of the equation of each line.

57) 58) .

Write the slope-intercept form of the equation of each line given the slope and y-intercept.

lope = -i =1
59) Slope =3, y-intercept 60) Slope = —%, y-intercept = 0

Write the slope-intercept form of the equation of the line through the given points.

61) through: (2, —5) and (2, -3) 62) through: (5, 4) and (4, 5)

Write the slope-intercept form of the equation of the line described.

63) through: (4, —1), parallel to y = —%x -5 64) through: (4’ 0)’ petp. 10y = =% =3



Write the slope-intercept form of the equation of each line.

65) x—4y=—4 66) 7x+6y=18

Solve each system by graphing.

1 68) x+2y=-8
67)y——2x—4 x—y=—2
y=x-1 _ Ay
:ﬂy | ! —
< = 1 [ &";
{ﬁ = I ‘; |
. [ | |:. I S N
o Y
B
Solve each system by substitution or elimination.
69) x—y=2 70) 3x-2y=4
3x+y=2 x—4y=-12
71) x-3y=-15 72) 4x-3y=-12
13x -9y =45 4x -3y =27



Answers to Extra Practice (optional)

1) 6 2) -10 3 g
5) —4x 6) 2-3n 7 - 517
42
9) —29 — 10x 10) 156 +12 11) 82 —41x
13) 61 14) {13} 15) {6}
10
17) [—5- 18) {—3} 19) 8]
2 4
21) {3} 22) {2} 23) {2}
ST I ]
7 3
22 10 49
29) {? 30) {—?} 31) Y
33) 5x% +39x—8 34) 24x> — 8x—42 35) —124° +2a + 10
37) (x = 1)(x+4) 38) (x-5)(x-3) 39) (7x+6)(x +5)
41) {5,2} 42) {-8, 8} 43) {7, -6}
45) {-4,4 46) {8, -2} 47) %
26 2 8
49) -5 50) o 51) -3
53) i 54) \ s 55)
AN EREL S EERE
1 TN
56) , 57) y=-2x 58) y=—x—4
59) y=3x+1 60)y=—%x 61) x=2
63) y=—%x+2 64) y=x-4 65) y=%x+1
67) (-2, -3) 68) (—4,-2) 69) (1,-1)

71) (9, 8) 72) No solution

14
4) ——
) 3

8) 325
8

12) -87 - 15a
16) {-9}

20) {8}

24) (3]
28) {8}

40
32) { 3
36) 28n° +37n+ 12
40) W(3v+7)
44) {-3, 4}

3
48) —=
) =3

52) -1

41
62) y=——x+—
)y *+5
66) y=——x+3
70) (4, 4)



